Aadition (sums S0 or less)

Grade 1 Word Problems Worksheet

It is Christmas time! Jack and Ashley receive a lot of presents and it is

time to unwrap them

Show your work
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4 Ashley received 3 boxes of chocolates. Each box contains 10 chocolates. How
- many chocolates does Ashley have in total?
Show your work
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Jack and Ashley each received 20 balloons for their birthday party. How
- many balloons do they have together?
Show your work
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Jack builds a tower with 30 Lego bricks. Ashley builds another tower with
25 Lego bricks. How many Lego bricks did they use in total?




Aadition (sums S0 or less)

Grade 1 Word Problems Worksheet

Joan was helping her little sister, Jenna, to clean up her room because it
was such a mess!
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Joan discovered 10 stuffed animals on Jenna's bed and 7 more in the closet.
g How many stuffed animals did Jenna have in total?

Show your work
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Jenna had 14 crayons in a box and 6 more scattered on the table. How many
crayons did Jenna have altogether?

Show your work
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Joan picked up 18 toy cars from the floor and found 8 more under the rug.
How many toy cars did Joan pick up?

Show your work




Addition (sums 50 or less)

Grade 1 Word Problems Worksheet

Morgan’s family went to an ocean park on a family trip.

(@ )
— Morgan's family rented 5 bikes and 3 scooters to explore the park. How many
vehicles did they rent in total?
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Show your work
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- At the dolphin exhibit, there were 7 dolphins playing in one tank and 6
>, dolphins in another. How many dolphins were there altogether?
|
Show your work
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Show your work

Morgan's family bought 12 ice cream cones and 10 slushies at the snack
stand. How many frozen treats did they buy in total?




